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AL TREMER REE AR IR REE
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R

B F O K 145 99 46 143 97 46 98.6 98.0 0.6 382 374 8 264 242 22 69.1 64.7 4.4
54 (ITI—) 56 42 14 54 42 12 96.4 100.0 -3.6 189 154 35 134 87 47 70.9 56.5 14.4
5 bt 31 19 12 30 19 11 96.8 100.0 -3.2 52 70 -18 43 47 -4 82.7 67.1 15.6
5 bHhX 13 7 6 12 7 5 92.3 100.0 -7.7 25 16 9 13 11 52.0 68.8 -16.8
5 bHEK 2 1 1 2 1 1 100.0 100.0 16 16 12 8 75.0 50.0 25.0
SbmK 10 15 -5 10 15 -5 100.0 100.0 96 52 44 66 21 45 68.8 40.4 28.4
B2 2 bl 34 21 13 34 19 15 100.0 90.5 9.5 76 87 -11 48 73 -25 63.2 83.9 -20.7
b= ST ) 6 5 1 6 5 1 100.0 100.0 16 12 4 14 11 3 87.5 91.7 -4.2
E - 5 4 1 5 5 100.0 125.0 -25.0 6 4 2 3 4 -1 50.0 100.0 -50.0
£ ® W 18 2 16 17 3 14 94.4 150.0 -55.6 3 16 -13 5 15 -10 166.7 93.8 72.9
F R 0™ 2 -2 2 -2 - 100.0 | -100.0 3 5 -2 2 66.7 66.7
F S ) 3 3 3 3 100.0 - 100.0 11 8 6 4 54.5 50.0 45
5 2 W 3 2 1 4 1 3 133.3 50.0 83.3 6 3 3 1 1 16.7 16.7
R W - - 2 3 -1 3 2 1 150.0 66.7 83.3
5 &1 1 -1 1 -1 - 100.0 | -100.0 8 12 -4 4 10 -6 50.0 83.3 -33.3
wmE AN W 4 1 4 1 3 100.0 100.0 8 12 -4 2 5 -3 25.0 41.7 -16.7
~ B W 3 3 3 100.0 - 100.0 4 14 -10 9 1 225.0 7.1 217.9
E E W 1 5 -4 1 5 -4 100.0 100.0 23 2 21 10 1 435 50.0 -6.5
£ fF 0wW 1 1 1 1 100.0 100.0 5 6 -1 2 1 40.0 16.7 23.3
b= R 2 2 2 2 100.0 100.0 9 15 -6 4 15 -11 44.4 100.0 -55.6
R AR AT 2 -2 1 -1 - 50.0 -50.0 1 5 -4 2 2 200.0 200.0
HMEME S AT - - 1 6 -5 5 5 500.0 500.0
& O ER Bk |y - - 2 1 1 4 1 3 200.0 100.0 100.0
NNy N i) - - 4 1 3 4 7 -3 100.0 700.0 | -600.0

B E B EA - - - -
& M R 5E B Ay 1 -1 1 -1 - 100.0 -100.0 1 2 -1 1 -1 50.0 -50.0

P FH AR B o0 T 1 1 1 1 100.0 - 100.0 1 1 -
f FH AR 5 % HT - - 1 -1 1 -1 - 100.0 -100.0

EHEFEERN - - - -

AKEBAKFGHET - - 1 1 -
A K BB 3% K ET 1 3 -2 1 3 -2 100.0 100.0 1 2 -1 2 2 200.0 100.0 100.0
NS BB 2 o SR T 1 1 1 1 100.0 100.0 1 3 -2 1 -1 333 -33.3

B BNE 6 4 2 6 4 2 100.0 100.0 - -




